.     Binomial p > 0.5    .
1) Brian enjoys his pizza. So much so that he eats pizza every night. He likes both pepperoni and mushroom, and each night he chooses randomly and independently between these two options. 
Given that each night he picks the mushroom option with probability 0.85, find the probability that he eats between 2 and 4 (inclusive) mushroom pizzas this week (7 days).

2) The probability of rain on any given day in June in Auckland is 0.8. Assuming that the weather on each day is independent of the weather on other days, find the probability that it rains on at least 2 days in a given week in June.

.     Changing probabilities ‘p’ to ‘q’    .
The probability of wee bud Bear sick on a bowl of porridge is 0.7

Assume sickness is independent between bowls

When 8 bowls are eaten find:

1) The probability that wee bear is 

     sick 3 times

2) The probability that wee bear is 

     sick at least twice

3) The probability that wee bear is 

     sick at most 4 times

4) The probability that wee bear is sick 

     between 4 and 6 times inclusive
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